owWIng are sourc

Which of the foll

1.
a. long-lerm debt
p. common s1ock
C. Pmicrrcd stock
d. Al of the above
{ does the (‘m-\'g cap\ m-.tme yepte
; in ebt and eaWty (e firm © Voy*

v 5 wha'




What
at is the
the expected market

Percent ;
. IS Xt retum "
beta 15 1.8 it the expected return on Asset X, is 24

a. 5.0% » and the risk free rate is 5§ percent?
. 7.48% § 3 percent
¢ 15.0%

d 22.5%

8. Casl
. sh flows .
)Ws are unrelated to (or independent of
880 projoct does o pendent of) one another; the acceptance of
ject does not eliminate the others fi § s et
a. Mutually ex ; e others from further consideration. This
{ ally exclusive projects .
). Independent projects
¢. unlimited funds
d. capital rationing
: The financial situation in which a firm has only a fixed number of
ollars available for capital expenditures, and numerous projects compete for
these dollars. .
a. Mutually exclusive projects
b. Independent projects
¢. unlimited funds
capital rationing

10. the expected return, stand
asset A are . (See below.)

Bt R S ey~
Possible Qutcomes Probability Retums (%)
._'_-'_-__—-".__'_'_
Pessimistic 0.25 5
0.55 10

Most likely
13

Optimistic 0.20

nd 1.25, respectively

and 2.15, respectively

t, and 2.00, respectively
295, respectively

a. 10 percent, 8 percent, a
b. 9.33 percent, 8 percent,
¢. 9.35 percent, 4.68 percen
d. 9.35 percent, 2.76 percent, and 0.

face value of $1,000 currently sells for $

11. A 15-year bond with a
following statements is
s The bond's yield to maturity is greal
b. The bond’s coupon rate exceeds its currenty ield
e "The bond's current yield is equal to its coupon rate
© The bond's current yield exceads its yield to maturity

ard deviation of returns, and coefficient of vanati

CORRECT?
er than its coupon rate

L |

50. Which of the




€. suborgj
d. equipm

13, Secureq by real estate or buildings. This is
4 mortgage bonds
collateral trys;
€. subordinated debentures
d. equipment trust certificates

nated debenrum
ent trugy certificates

. conversion featyre
b. puttable feature
€. callable featyre
d. extendible feature

dholders the righ
€ommon stock at 5 Specified price.

a. conversion featyre
b. puttable feature

€. callable feanre
d. Stock Purchase warran s feature

L10 purchase 2 certain number

of shares of

bond’s annya| Coupon Payment divideq by its Current




I asset valuasion

nulM-Mnmm e
=" Wme perlod(s) when cash is receive ;
Mmqukwmdmwmmudmmwh flows (i.e.,
sk implies a discount rate).
of the above

‘What is Nico's portfolio beta if he invests an equal amount in Asset X with a beta
0.60, Asset Y with a beta of 1,60, and the risk-free asset?
a 1.4

b. 1.00
c. 073
d. 066

20. The preemptive right gives shareholders the right
a. 1o caste one vote for each share owned at t
company
b. to give up their vote to another
meeting

€. to maintain their proportionate ownership in the corporation when new
common stock is issued

he annual meeting of the

party if they do not attend the annual

d. to sell their share of stock at a premium in the event of liquidation

Common Stock and Paid-in Capital in

, respectively. The firm has
'ad a par value of $1, the stock




determined its cost of each source of capital and optimal capital
| ﬂmhi:oompoud of the following sources and target market value

" Target Market
i ions After-Tax Cost

4 6%
10 "
50 15

The weighted average cost of capital is :
a. 6 percent
b. 10.7 percent
¢. 11 percent
d. 15 percent

42. projects have the same function; the acceptance of one the
others from consideration.

a. Capital; eliminates

b. Independent; does not eliminate

c. Mutually exclusive; eliminates

d. Replacement; eliminates




" ﬂ.TmuhCmpnny balance sheet showed total assets of $60
million, total liabilities (including preferred stock) of $45 million, and 1,000,000
shares of common stock outstanding. If Tangshan could sell its assets for $52.5
‘million, Tangshan's liquidation value per share of common stock is .

a. $15
b. $7.50
c. $52.50

: d. 8§75

39. Julie's X-Ray Company paid $2.00 per share in common stock dividends last
year. The company's policy is to allow its dividend to grow at 5 percent for 4
years and then the rate of growth changes to 3 percent per year from year five and

on. What is the value of the stock if the required rate of return is 8 percent?

a. $4427
b. $40.38
c. $746
d. 36.81




08t of common stock equity may be estimated by usingthe

_--_.'- yield curve

~b. break-even analysis

¢ Gordon model
4. DuPomt analysis

) .
'-_.ih.lml Tilly's Fur Company has been experiencing several years of financial
~ difficulty and, thus, has considered maintaining its dividend payment at $2.50
indefinitely. What is the value of its common stock if the required rate of return 1s

8.5 percent?
a. $2941

b. $2.30
c. $27.50
d. $33.33

36. At year end, Tangshan China Company balance sheet showed total assets of $60
million, total liabilities (including preferred stock) of $45 million, and 1,000,000
shares of common stock outstanding. Based on this information, Tangshan's book
value per share of common stock is

a. S105
b. $10.50

Y
e =i

he purchase of a piece of equipment that costs
d net annual cash flows over the project’s life are:
$3,000
8,000

9,000



* 29. Based on the above information what is the firm's cost of Debt Afier tax?
-3 a. 1.44 percent

“ b. 2.44 percent

c. 1.26 percent

. d. 1.5 percent

e. 2.22 percent

30. Based on the above information what is the Market Value of the firm’s Common
Stocks?

a. $700,000

b. $7,000,000

c. $625,000

d. $7,500,000

€. Insufficient information

31. Based on the above information what is the market Value of the firm’s bonds?
a. $7,000,000

~ b. $7,350,000
¢ $6,860,000
d. $7,500,000
¢. Cannot be determine

~ 32. Based on the above information what is the wei|
respectively?

a. 70% debt, 30% equity

b. 51.2% debt, 48.8% equity
¢. 50% debt, 50% equity
d. 48.8% debt, 51.2% equity

ts of the firm's debt and equity




'mvdmhnouqmltopnm
current value is equal to par value

* the maturity value is equal to par value
the current value is equal to maturity value

Metal Molds has a negative growth rate of 1.5 percent and

mmonstockof
price is $11.40. What was the

ired return of 18 percent. The current stock

unomt of the last dividend paid?

a. $207

b. $2.11

c. $2.19

d. $2.22

e. $2.26
| dividends of $1.16, $1.20, $1.25,$1.10, and

26. Highway Express has paid annua
ctively. What is the average dividend growth

$0.95 over the past five years respe

rate?
a. -4.5] percent
b. -3.60 percent

3 : ¢. 2.28 percent
g d. 2.47 percent
e. 4.39 percent

‘‘‘‘‘‘



